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Guess Paper – 2011
Class – XII
 Subject – Accountancy

Time:3 Hrs.                                                          



                            
            M. Marks : 80


Part A

Accounting for Not-for-Profit Organizations, Partnership Firms and Companies

1.   What is Endowment Fund?







   
( 1 )

2.    Is there any limit for number of partners in a firm?



       

( 1 )

3.    Mention Para 16 of Accounting Standard AS-10 regarding goodwill.

                             ( 1 )

4. What adjustment entry is passed to deal with goodwill when there is a change in the profit sharing ratio among the existing partners?
      




                            ( 1 )

5.    What is meant by ‘Floating Charge’?                                                                                                   ( 1 )


6. Show how would you deal with the prize fund of P.K.R Jain Senior Secondary School:










Rs

Prize Fund







2,50,000

Prize Fund Investment





2,50,000

Income from Prize Fund Investment


  

  25,000

Prizes awarded from sale of investment at par



  75,000                           (  3 )

7. X Ltd forfeited 100 shares of Rs 10 each (Rs 6 called up) issued at a discount of 10% to Y on which he had paid the application money of Rs 2 per share. Out of these, 80 shares were reissued to Z at Rs. 6 per share, Rs. 8 paid up. Give journal entries in the books of the company to record forfeiture and reissue of shares.                          ( 3 )

8. On 1.4.2003 X Ltd issued 2,000   7% debentures of Rs 100 each at a discount of 10% redeemable at par after 4 years by converting them into equity shares of Rs 10 each issued at a premium of 25%.Pass necessary journal entries for issue and redemption of debentures.                                                                                                   ( 3 )













9. X Ltd. purchased 5,000 of its own 8% debentures of Rs 1,000 each at Rs 987 per debentures. It also purchased another lot of 600 debentures of the same series at Rs 986 per debentures. The debentures were purchased for the purpose of cancellation. Record necessary journal entries in the books of the company.                       ( 4 )

10. (a)   X and Y are partners in a firm sharing profits in the ratio of 3:1.They had advanced to the firm a sum of Rs 20,000 as loan in their profit sharing ratio on 1.10.2006.The partnership deed is silent upon the question of interest  on   partner’s loans. Compute the amount of interest payable by the firm to the partners assuming the firm’s books are closed   on 31st March each year.

(b) A and B are partners in a firm. They withdrew Rs. 30,000 and Rs 48,000    respectively   during    the    year evenly 

at the middle of every month. According to the partnership deed, interest on  drawings  is  to  be charged @ 12 % p.a. Calculate the interest on drawings of the partners using appropriate formula.
                        ( 2+2=4 )

11.    P, R and S are partners sharing profits in the ratio 4:3:1 respectively it is provided under the partnership deed that on the death of any partner his share of goodwill is to be valued at one half of the net profits credited to his account during the last 4 completed years(books of accounts are closed on 31st December)

R died on 1st January, 20X5.The firm’s profits for the last 4 years were as follows: 2001 (Profits Rs 1,20,000); 2002 (Profits Rs 60,000),  2003 (Losses Rs 20,000) and 2004 (Profits Rs 80,000)

(a) Determine the amount that should be credited to R in respect of his share of goodwill.

(b)  Pass a journal entry  for its adjustment assuming that profit sharing ratio between P and S in future will be 3:2 Show your working clearly.                                                                                                                  ( 4 )            

12. From the Receipts and Payment Account of a Social Club and Additional information, you are required to prepare Income and Expenditure Account for the year ended 31st December,2007 and Balance  Sheet on that date :

Receipts   and Payments Account

As on 31st December, 2007

	Receipts
	 
	      Rs.
	Payment
	      Rs.

	To Balance b/d
	
	By Crockery Purchased
	    300

	       Cash
	   352
	By Maintenance
	    500

	       Bank
	2,648
	By Match Expenses
	   800

	Fixed Deposit at 10%
	4,000
	By Salaries
	1,000

	To Subscriptions
	
	By Conveyance
	   90

	(Including Rs.500 for 2006)
	4,500
	By Upkeep of Lawn
	 400

	To Life Membership Fees
	  300
	By Postage stamps
	   80

	To Donation
	  500
	By Purchase of Cricket Goods
	   1,000

	To Interest on Fixed Deposit
	 300
	By Sundry Expenses
	120

	To Tournament fund
	    2,500
	By Investments
	500

	To Sale of Crockery
	  150
	By Tournament Expenses
	   1,510

	(Book Value Rs.100)
	
	By Balance c/d
	

	 
	
	
	 
	
	Cash in Hand      3,000
	

	 
	
	
	 
	
	Cash at Bank      1,950
	

	 
	
	
	 
	 
	Fixed Deposit      4,000
	8,950

	 
	 
	 
	 
	15,250
	 
	 
	 
	15,250


      Additional Information:

(1) Salary is paid @ Rs 100 per month.

(2) The value of Postage Stamps is as under:

31st December,2006


Rs 60

31st December,2007


Rs 80

(3) Stock of Cricket Goods is as follows:

31st December,2006


Rs 300

31st December,2007


Rs 280

(4) Arrears of Subscription Outstanding on 31st December,2007

For 2006



Rs 200

For 2007



Rs 700




          (6)







(

13. The Balance Sheet of X,Y and Z who are sharing profits as 2:3:2 respectively stood as follows on 31.3.2007:

	Liabilities
	    Rs
	Assets
	Rs

	Capital Accounts:
	 
	Land & Building
	10,000

	  X        10,000
	 
	Machinery
	17,000

	  Y        15,000
	 
	Closing Stock
	5,000

	  Z        10,000
	35,000
	Sundry Debtors
	6,000

	Sundry Creditors
	5,000
	Bank
	2,000

	 
	 
	40,000
	 
	 
	40,000


       On 31.3.2007,Y desired to retire from the firm. It was agreed to revalue the assets and liabilities on the date on the following basis  :

(a) Land & Building to be appreciated by 30%.

(b) Machinery to be depreciated by 20%

(c) Closing Stock to be valued at Rs 4,500

(d) Provision for bad debts to be made at 5%

(e) Old credit balances of sundry creditors Rs 500 be written back

(f) Goodwill of the entire firm be valued at Rs 6,300 and Y’s share of the goodwill be adjusted in the accounts of X and Z who share the future profits and losses in the ratio of 3:2.

(g) The total capital of the firm is to be same as before retirement, individual capitals be in their  profits sharing ratio.

(h) Amount due to Y is to be paid as 50% on retirement and Balance 50% after one year.

                Prepare revaluation A/c,  Partner’s Capital Accounts and Bank Account as on 1.4.2007 after Y’s retirement .                          

                                                                                                                                                                                       ( 6 )

14. (a)   X Ltd. issued 1,50,000 12% debentures of Rs 100 each at premium of 10 % payable as Rs 40 on application and balance Rs 60 on allotment. Debentures are redeemable at par after 3 years. All the money due on allotment was called up and received. Record necessary entries at the time of issue of debentures when premium is to be called along with application money.

(b) K Ltd acquire assets of Rs 20 Lakhs and took over creditors of Rs 2 lakhs from Y & Co. X Ltd. issued 8% 

       debentures of Rs 100 each at par as purchase consideration. Pass necessary journal entries in the books of X Ltd.                                                                                                                                                                

                                                                                                                                                                               ( 3+3=6 )

15.   X and Y are partners sharing profits and losses in 3:2 ratio. Their Balance Sheet on 31.3.2007 was as follows:

	Liabilities
	Rs
	Assets
	Rs

	X's Capital
	70,000
	Machinery
	66,000

	Y's Capital
	60,000
	Furniture
	30,000

	General Reserve
	20,000
	Investments
	40,000

	Bank Loan
	18,000
	Stock
	46,000

	Creditors
	72,000
	Debtors                   38,000
	 

	 
	 
	 
	Less: Provision         4,000
	34,000

	 
	 
	 
	Bank
	24,000

	 
	 
	2,40,000
	 
	 
	2,40,000


On the above date, they admitted Z for 25 % share in profits on following terms:

a) Z will bring capital proportionate to his share after all adjustments and Rs 8,000 for goodwill out of his share of Rs 14,000

b) Depreciate Furniture by 10%.

c) Half of investments were to be taken by X and Y in their profit sharing ratio and remaining valued at Rs 26,000.

d) New profit sharing ratio will be 3:3:2.

  Prepare revaluation Account, Capital Accounts and Balance sheet after Z’s Admission

                                                                 Or

                  P, Q and R commenced on January 1,2005 with capitals of P Rs 2,00,000; Q Rs 2,00,000; and R Rs 1,00,000.

        Profits are shared in the ratio 4:3:3 Capital carried interests @ 5 % per annum. During the year 2005 ,the firm suffered   

        the loss of Rs 1,50,000 before allowing interest on capital. Drawings of each partner during the year were Rs 20,000.

                 On December 31,2005 the partners agreed to dissolve the firm as it was no longer profitable. Creditors on that  

       date were Rs 40,000. The assets realized a net value of Rs 3,20,000 and the expenses of realization were Rs  7,000.

                 Prepare realization Account, Captital Accounts and Cash along with necessary working to close the books of the    

       Firm.                                                                                                                                                                      ( 8 )

16.  V.K.P Ltd issued 30,000 shares of Rs 10 each,  payable as under:

Rs 3.00 on Application, payable on 1st January, 2003

Rs 2.00 on Allotment, payable on 1st March, 2003

Rs 2.50 on First call, payable on 1st June, 2003

Rs 2.50 on Final Call, payable on 1st November, 2003

           Applications were received for 50,000 shares and the allotments were made as under:

To Applicants for 24,000 shares            …Full

To Applicants for 18,000 shares            …6,000

To Applicants for 8,000 shares              …Nil

           Excess money received on application was utilized towards allotment and subsequent calls, Interest on calls in advance was paid @ 6% per annum. On November 15, 2003 the company also allotted 800 shares of Rs 10 each at the rate of  Rs. 9 per share as sweat equity shares to the employees of the company. Journalise the transactions, assuming all sums due were received.

Or

         On 1st June, 2002 A limited offered for subscription 50,000 equity shares of Rs 100 each at a premium of Rs 20 per share payable as given below:

On Application                                              Rs 20 per share

On Allotment (including premium)              Rs 50 per share

Two months after Allotment                        Rs 50 per share

          Applications were received for 84,000 shares. On 1st  July, 2002 the directors Proceeded to allot shares proportionately.

          Of these, applications for 4,500 shares were accompanied with full amount and hence were accepted in full and the balance allotment was made pro-rata.Excess amount paid by applicants was utilized towards allotment and call money due from them.

         One of the applicant to whom 300 shares were allotted proportionately, failed to pay the call money. His shares were forfeited on 30th November, 2002 and subsequently issued @ Rs 130 per share.

Record entries relating to these transactions in the journal of the company.                                                             ( 8 )

PART B

ANALYSIS OF FINANCIAL STATEMENTS

17.   If Debt equity ratio is low what does it indicate?                                                                                                ( 1 )

18. Give one example of a single transaction which includes cash flow from investing as well as financing activity. 

                                                                                                                                                                                     ( 1 )

19.   Name the organisation to whom rent received is an operating activity and also name the organisation to whom rent received is an investing  activity.                                                                                                                        ( 1 )


20.   State the respective heads of the following items which will appear in the Balance-Sheets of a company:

a) Authorized Capital

b) Mortgage Loan

c) Interest Accured And due on Secured Loan

d) Acceptance (Bills Payable)

e) Interest Accrued but not Due on Loan

f) Goodwill                                                                                                                                                           ( 3 )



21.   From the following information prepare a common size income statement and  also give your comments on it:

	 
	 
	 
	 
	31-3-2005
	31-3-2006

	 
	 
	 
	 
	(Rs)
	(Rs)

	Sales
	1,07,000
	1,48,000

	Sales Return
	7,000
	8,000

	Gross Profit
	40,000
	65,000

	Office and Administrative Expenses
	5,000
	7,000

	Selling and Distribution Expenses
	1,500
	1,500

	Non-Operating Incomes
	1,500
	1,500

	Non-Operating Expenses
	500
	600

	Tax-Rate
	40%
	40%


                                                                                                                                                                                ( 4 )



22.    Calculate the amount of Opening Debtors and Closing Debtors from the following figures:

     Debtors Turnover Ratio 4 times

     Cost of Goods Sold Rs 6,40,000

     Gross Profit Ratio 20 %

     Closing Debtors were Rs 20,000 more than at the beginning

     Cash sales  being   1/3rd  of Credit sales                                                                                                         ( 4 )

23.  From the following Balance-Sheets of Sonu Ltd Prepare a Cash Flow Statement :

	Liabilities
	31-3-06
	31-3-07
	Assets
	31-3-06
	31-03-07

	
	(Rs)
	(Rs)
	
	(Rs)
	(Rs)

	Equity Share Capital
	1,95,000
	2,60,000
	Machinery
	1,30,000
	3,25,000

	Preference share Capital
	65,000
	48,750
	Investments
	26,000
	29,250

	12% Debentures
	1,30,000
	1,62,500
	Stock
	97,500
	1,30,000

	Securities Premium
	      -------
	39,000
	Bills Receivable
	1,14,400
	36,400

	Profit and Loss Account
	   ------- 
	46,800
	Bank
	61,100
	1,39,100

	Accumulated Depreciation
	19,500
	31,200
	Discount on Issue
	 
	 

	Provision for
	 
	 
	of  Debentures
	16,250
	13,650

	Doubtful Debts
	9,750
	13,650
	Profit and Loss Account
	6,500
	 -------

	Creditors
	19,500
	45,500
	 
	 
	 

	Outstanding Expenses
	13,000
	26,000
	 
	 
	 

	 
	 
	 
	 
	 
	 

	 
	 
	4,51,750
	6,73,400
	 
	4,51,750
	6,73,400


Additional Information:

(1) Dividend paid during the year Rs 23,400.

(2) Additional Debentures amounting to Rs 32,500 were issued on 1st August 2006 and interest has been paid regularly.

(3) Machinery costing Rs 13,000 (Accumulated depreciation Rs 5,200) was sold for Rs 11,050.

(4) Investment costing Rs 6,500 were sold at a profit of 40%.                                                                                 ( 6 )

Submitted By : 

Girish Sehgal

C/o Step – N – Success

64, Ajanta Colony, Green Avenue, Amritsar

Mobile No. 8146755388
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